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SOLUTION
The truss is a compound truss since the simple trusses ACH and CEG
are connected by the pin at C and the bar HG.

Section aa in Fig. 3-29a cuts through bar HG and two other members
having unknown forces. A free-body diagram for the left part is shown
in Fig. 3-29b. The force in HG is determined as follows:

L‘Jr‘EMC = 0, _5(4) + 4(2) + FHG(4 sin 600) =(
FHG - 346 kN (C)

We can now proceed to determine the force in each member of the
simple trusses using the method of joints. For example, the free-body
diagram of ACH is shown in Fig. 3-29¢. The joints of this truss can be
analyzed in the following sequence:

Joint A: Determine the force in AB and Al

Joint H: Determine the force in HI and HJ.

Joint I: Determine the force in 1J and /B.

Joint B: Determine the force in BC and BJ.
Fig. 3-29 Joint J: Determine the force in JC.
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(a)
Fig. 3-31

SOLUTION
The truss may be classified as a type 2 compound truss since the
simple trusses ABCD and FEHG are connected by three nonparallel
or nonconcurrent bars, namely, CE, BH, and DG.

Using section aa in Fig. 3-31a we can determine the force in each
connecting bar. The free-body diagram of the left part of this section is
shown in Fig. 3-31b. Hence,

\+SMp=0;, —3(6) — Fpg(6sin45°) + Fcg cos 45°(12)
+ Fcpsin45°(6) = 0 (1)
+12F,=0; 3—3— Fpysin45° + Fcpsind5® =0 2)
B SF. =0, —Fpycosd5® + Fpg — Fopcos45° = 0 3)
From Eq. (2), Fgy = FcE; then solving Egs. (1) and (3) simultaneously
yields
Fgy = Fcg = 2.68k (C) Fpg = 3.78k (T)

Analysis of each connected simple truss can now be performed
using the method of joints. For example, from Fig. 3-31c, this can be
done in the following sequence.

Joint A: Determine the force in AB and AD.
Joint D: Determine the force in DC and DB.
Joint C: Determine the force in CB.
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